

On some generalized results on $\psi - |\bar{N}, p_n, \delta, \gamma|_k$ -summability factors of Infinite Series

Aditya Kumar Raghuvanshi
Department of mathematics,
IFTM University Moradabad (U.P.), India
dr.adityaraghuvanshi@gmail.com

Abstract: In this paper I have proved a theorem on $\psi - |\bar{N}, p_n, \delta, \gamma|_k$ - summability factors which generalizes some previous known results and gives some unknown result.

Keywords: Weighted mean Summability, Summability factors, Infinite series.

AMS subject classification: 40D15, 40F05, 40G99.

1. INTRODUCTION

Let (ψ_n) be sequence of positive real number, let Σa_n be a given infinite series with partial sums (s_n) and (t_n) denote the n-th Cesaro means of the sequence (na_n) . Then the series Σa_n is said to be summable $|C, 1|_k, k \geq 1$ if (Flett [3]).

$$\sum_{n=1}^{\infty} \frac{1}{n} |t_n|^k < \infty \quad (1.1)$$

and it is said to be summable $\psi - |C, 1|_k, k \geq 1$ if (Seyhan [6]).

$$\sum_{n=1}^{\infty} \frac{\varphi_n^{k-1}}{n^k} |t_n|^k < \infty \quad (1.2)$$

If we are taking $\varphi_n = n, \psi - |C, 1|_k$ -summability reduces to $|C, 1|_k$ -summability.

Let (p_n) be a sequence of positive numbers such that

$$P_n = \sum_{v=1}^n p_v \rightarrow \infty \text{ as } n \rightarrow \infty \quad (1.3)$$

The sequence to sequence transformation

$$u_n = \frac{1}{P_n} \sum_{v=1}^n p_v s_v \quad (1.4)$$

defines the sequence (u_n) of the (\bar{N}, p_n) mean of the sequences (s_n) generated by the sequence of coefficients (p_n) (Hardy [4]).

The series Σa_n is said to be summable $|\bar{N}, p_n|_k, k \geq 1$ if (Bor [1])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{k-1} |\Delta u_{n-1}|^k < \infty \tag{1.5}$$

and it is said to summable $|\bar{N}, p_n, \delta|_k, k \geq 1$ and $\delta \geq 0$ if (Bor [2])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{\delta k + k - 1} |\Delta u_{n-1}|^k < \infty \tag{1.6}$$

where $\Delta u_{n-1} = u_n - u_{n-1} = \frac{-p_n}{P_n P_{n-1}} \sum_{v=1}^n p_{v-1} a_v : n \geq 1$

and Σa_n is said to summable $|\bar{N}, p_n, \delta, \gamma|_k, k \geq 1, \delta \geq 0$ and $\gamma \geq 1$ if

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{\gamma(\delta k + k - 1)} |\Delta u_{n-1}|^k < \infty \tag{1.7}$$

and it is said to summable $\psi - |\bar{N}, p_n, \delta, \gamma|_k, k \geq 1, \delta \geq 0, \gamma \geq 1$

$$\sum_{n=1}^{\infty} (\varphi_n)^{\gamma(\delta k + k - 1)} |\Delta u_{n-1}|^k < \infty \tag{1.8}$$

If $\varphi_n = \frac{P_n}{p_n}$ then $\psi - |\bar{N}, p_n, \delta, \gamma|_k$ -summability reduces to $|\bar{N}, p_n, \delta, \gamma|_k$ -summability and if

$\varphi_n = n\delta = O$ and $\gamma = 1$ then $\varphi - |\bar{N}, p_n, \delta, \gamma|_k$ -summability reduces to $|C, 1|_k$ -summability.

2. KNOWN RESULTS

Concerning $|C, 1|_k$ -summability, Mazhar [5] has proved the following theorem.

Theorem 2.1

If $\lambda_m = O(1)$, as $m \rightarrow \infty$ (2.1)

$$\sum_{n=1}^m n \log n |\Delta^2 \lambda_n| = O(1), \text{ as } m \rightarrow \infty \tag{2.2}$$

$$\sum_{v=1}^m \frac{|t_v|^k}{v} = O(\log m) \text{ as } m \rightarrow \infty \tag{2.3}$$

then the series $\Sigma a_n \lambda_n$ is summable $|C, 1|_k, k \geq 1$.

And Sulaiman (7) has proved the following theorem.

Theorem 2.2 Let (φ_n) and (X_n) be sequences of positive real numbers such that (X_n) is non decreasing and condition (2.1) is satisfied

If $np_n = O(P_n), P_n = O(np_n)$, as $n \rightarrow \infty$ (2.4)

$$\beta_{n+1} = O(\beta_n) \tag{2.5}$$

$$\Delta \beta_n = O(n^{-1} \beta_n) \text{ as } n \rightarrow \infty \tag{2.6}$$

$$\sum_{n=1}^{\infty} n X_n |\Delta^2 \lambda_n| = O(1) \tag{2.7}$$

$$\sum_{n=1}^m \frac{\varphi_n^{k-1} |\beta_v|^k |s_n|^k}{n^k X_n^{k-1}} = O(X_m) \text{ as } m \rightarrow \infty \tag{2.8}$$

$$\sum_{n=v}^m \frac{\varphi_n^{k-1}}{v^k P_{n-1}} = O\left(\frac{\varphi_v^{k-1}}{v^{k-1} P_v}\right)$$

then the series $\sum a_n \lambda_n \beta_n$ is summable $\varphi - |\bar{N}, p_n|_k, k \geq 1$.

3. MAIN RESULTS

The aim of this paper is to generalize the theorem (2.2), here I have proved the following theorem.

Theorem 3.1 Let (φ_n) and (X_n) be sequences of positive real numbers such that (X_n) is non decreasing and if the conditions (2.1), (2.4), (2.5), (2.6), (2.7) are satisfied.

$$\sum_{n=1}^m \frac{(\varphi_n)^{\gamma(k+\delta k-1)} |\beta_v|^k |s_n|^k}{n^k X_n^{k-1}} = O(X_m) \text{ as } m \rightarrow \infty \tag{3.1}$$

$$\sum_{n=v}^m \frac{(\varphi_n)^{\gamma(k+\delta k-1)}}{v^k P_{n-1}} = O\left(\frac{\varphi_v^{\gamma(\delta k+k-1)}}{v^{k-1} P_v}\right) \tag{3.2}$$

Then the series $\sum a_n \lambda_n \beta_n$ is summable $\varphi - |\bar{N}, p_n, \delta, \gamma|_k, k \geq 1, \gamma \geq 1$ and $\delta \geq 0$.

4. LEMMA

To prove the above theorem following Lemma is required.

Lemma 4.1 Sulaiman [7] The conditions (2.1) and (2.7) implies.

$$\sum_{n=1}^{\infty} X_n |\Delta \lambda_n| = O(1) \tag{4.1}$$

$$nX_n |\Delta \lambda_n| = O(1) \text{ as } n \rightarrow \infty \tag{4.2}$$

$$X_n |\lambda_n| = O(1) \text{ as } n \rightarrow \infty \tag{4.3}$$

5. PROOF OF THE THEOREM 3.1

Let T_n be the (\bar{N}, p_n) mean of the series $\sum_{n=1}^{\infty} a_n \lambda_n \beta_n$, we have

$$\begin{aligned} T_n &= \frac{1}{P_n} \sum_{v=1}^n p_v \sum_{r=1}^v a_r \lambda_r \beta_r \\ &= \frac{1}{P_n} \sum_{v=1}^n (P_v - P_{v-1}) a_v \lambda_v \beta_v \end{aligned}$$

And hence

$$T_n - T_{n-1} = \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^n P_{v-1} a_v \lambda_v \beta_v, n \geq 1.$$

Using Abeles transformation, we have

$$\begin{aligned}
 T_n - T_{n-1} &= \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} s_v \Delta(P_{v-1} \lambda_v \beta_v) + \frac{P_n}{P_n} \lambda_n \beta_n s_n \\
 &= \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} (-p_v \lambda_v \beta_v s_v + P_v \lambda_v \Delta \beta_v s_v + P_v \beta_{v+1} \Delta \lambda_v s_v) \\
 &= T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}
 \end{aligned}$$

Since $|T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}|^4 \leq 4^k (|T_{n,1}|^k + |T_{n,2}|^k + |T_{n,3}|^k + |T_{n,4}|^k)$

In order to complete the proof, it is sufficient to show that

$$\sum_{n=1}^{\infty} (\varphi_n)^{\gamma(k+\delta k-1)} |T_{n,r}|^k < \infty, \quad r = 1, 2, 3, 4$$

Applying Hölders inequality, we have

$$\begin{aligned}
 \sum_{n=2}^m (\varphi_n)^{\gamma(\delta k+k-1)} |T_{n,1}|^k &= \sum_{n=2}^m (\varphi_n)^{\gamma(\delta k+k-1)} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v \lambda_v \beta_v s_v \right|^k \\
 &= O(1) \sum_{n=2}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \left(\sum_{v=1}^{n-1} p_v |\lambda_v| |\beta_v| |s_v| \right)^k \\
 &= O(1) \sum_{n=2}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \sum_{v=1}^{n-1} p_v |\lambda_v|^k |\beta_v|^k |s_v|^k \left(\sum_{v=1}^{n-1} \frac{P_v}{P_{n-1}} \right)^{k-1} \\
 &= O(1) \sum_{v=1}^m p_v |\lambda_v|^k |\beta_v|^k |s_v|^k \sum_{n=v}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m p_v |\lambda_v|^k |\beta_v|^k |s_v|^k \sum_{n=v}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)}}{n^k P_{n-1}} \\
 &= O(1) \sum_{v=1}^m \frac{p_v (\varphi_v)^{\gamma(\delta k+k-1)}}{v^{k-1} p_v} |\lambda_v|^k |\beta_v|^k |s_v|^k \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\delta k+k-1}}{v^k} |\lambda_v|^{k-1} |\beta_v|^k |s_v|^k |\lambda_v| \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\gamma(\delta k+k-1)}}{v^k X_v^{k-1}} |\beta_v|^k |s_v|^k \sum_{n=v}^{\infty} \Delta |\lambda_n| \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\gamma(\delta k+k-1)}}{v^k X_v^{k-1}} |\beta_v|^k |s_v|^k \sum_{n=v}^{\infty} |\Delta \lambda_n| \\
 &= O(1) \sum_{n=1}^{\infty} |\Delta \lambda_n| \sum_{v=1}^n \frac{(\varphi_v)^{\gamma(\delta k+k-1)}}{v^k X_v^{k-1}} |\beta_v|^k |s_v|^k \\
 &= O(1) \sum_{n=1}^{\infty} X_n |\Delta \lambda_n| \\
 &= O(1).
 \end{aligned}$$

$$\begin{aligned}
 \sum_{n=2}^m (\varphi_n)^{\gamma(\delta k+k-1)} |T_{n,2}|^k &= \sum_{n=2}^m (\varphi_n)^{\gamma(\delta k+k-1)} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v \lambda_v \Delta \beta_v s_v \right|^k \\
 &= O(1) \sum_{n=1}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \left(\sum_{v=1}^{n-1} p_v |\lambda_v| |\Delta \beta_v| |s_v| \right)^k \\
 &= O(1) \sum_{n=1}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \left(\sum_{v=1}^{n-1} v^{-1} p_v |\lambda_v| |\beta_v| |s_v| \right)^k \\
 &= O(1) \sum_{n=1}^m \frac{\varphi_n^{\gamma(k+\delta k-1)} P_n^k}{P_n^k P_{n-1}^k} \sum_{v=1}^{n-1} v^{-1} p_v \left(\frac{P_v}{p_v} \right)^k |\lambda_v|^k |\beta_v|^k |s_v|^k \left(\sum_{v=1}^{n-1} \frac{P_v}{P_{n-1}} \right)^{k-1} \\
 &= O(1) \sum_{v=1}^m p_v |\lambda_v|^k |\beta_v|^k |s_v|^k \sum_{n=v}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m p_v |\lambda_v|^k |\beta_v|^k |s_v|^k \sum_{n=v}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)}}{v^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\gamma(\delta k+k-1)} P_v}{v^{k-1} P_v} |\lambda_v|^k |\beta_v|^k |s_v|^k \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\delta k+k-1}}{v^k} |\lambda_v|^k |\beta_v|^k |s_v|^k \\
 &= O(1), \text{ as in the case of } T_{n,1}.
 \end{aligned}$$

$$\begin{aligned}
 \sum_{n=2}^m \varphi_n^{k-1} |T_{n,2}|^k &= O(1) \sum_{n=2}^m (\varphi_n)^{\gamma(\delta k+k-1)} \left| \frac{P_n}{P_n P_{n-1}} \sum_{v=1}^{n-1} p_v \beta_{v+1} \Delta \lambda_v s_v \right|^k \\
 &= O(1) \sum_{n=1}^{m+1} \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \left(\sum_{v=1}^{n-1} p_v |\beta_v| |\Delta \lambda_v| |s_v| \right)^k \\
 &= O(1) \sum_{n=1}^m \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{P_n^k P_{n-1}^k} \sum_{v=1}^{n-1} \frac{P_v}{X_v^{k-1}} |\beta_v|^k |\Delta \lambda_v| |s_v|^k \left(\sum_{v=1}^{n-1} X_v |\Delta \lambda_v| \right)^{k-1} \\
 &= O(1) \sum_{n=1}^m \frac{P_v^k}{X_v^{k-1}} |\beta_v|^k |\Delta \lambda_v| |s_v|^k \sum_{n=v+1}^{m+1} \frac{(\varphi_n)^{\gamma(\delta k+k-1)} P_n^k}{v^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m \frac{P_v^k}{X_v^{k-1}} |\beta_v|^k |\Delta \lambda_v| |s_v|^k \sum_{n=v+1}^{m+1} \frac{(\varphi_n)^{\gamma(\delta k+k-1)}}{v^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m \frac{P_v}{X_v^{k-1}} |\beta_v|^k |\Delta \lambda_v| |s_v|^k \sum_{n=v+1}^{m+1} \frac{(\varphi_n)^{\gamma(\delta k+k-1)}}{v^k P_{n-1}^k} \\
 &= O(1) \sum_{v=1}^m \frac{(\varphi_v)^{\gamma(\delta k+k-1)}}{v^{k-1} X_v^{k-1}} |\beta_v|^k |\Delta \lambda_v| |s_v|^k \\
 &= O(1) \sum_{v=1}^m v |\Delta \lambda_v| \frac{(\varphi_v)^{\delta k+k-1} |\beta_v|^k |s_v|^k}{v^k X_v^{k-1}} \\
 &= O(1) \sum_{v=1}^{m-1} \Delta(v |\Delta \lambda_v|) \sum_{r=1}^v \frac{(\varphi_r)^{\gamma(k+\delta k-1)} |\beta_r|^k |s_r|^k}{r^k X_r^{k-1}}
 \end{aligned}$$

$$\begin{aligned}
 &+O(1)m|\Delta\lambda_m|\sum_{v=1}^m\frac{(\varphi_v)^{\gamma(k+\delta k-1)}|\beta_v|^k|s_v|^k}{v^kX_v^{k-1}} \\
 &=O(1)\sum_{v=1}^{m-1}v|\Delta^2\lambda_v|X_v+O(1)\sum_{v=1}^{m-1}|\Delta\lambda_v|X_v+O(1)m|\Delta\lambda_m|X_m \\
 &=O(1)
 \end{aligned}$$

$$\begin{aligned}
 \sum_{n=1}^m(\varphi_n)^{\gamma(k+\delta k-1)}|T_{n,4}|^k &= \sum_{n=1}^m(\varphi_n)^{\gamma(\delta k+k-1)}\left|\frac{P_n}{P_nP_{n-1}}\beta_n\lambda_n s_n\right|^k \\
 &=O(1)\sum_{n=1}^m(\varphi_n)^{\gamma(\delta k+k-1)}\left(\frac{P_n}{P_n}\right)^k|\beta_n|^k|s_n|^k|\lambda_n|^{k-1}|\lambda_n| \\
 &=O(1)\sum_{n=1}^m\frac{(\varphi_n)^{\gamma(\delta k+k-1)}|\beta_n|^k|s_n|^k}{n^kX_n^{k-1}}\sum_{v=n}^{\infty}|\Delta\lambda_v| \\
 &=O(1)\sum_{v=1}^m|\Delta\lambda_n|\sum_{n=1}^v\frac{(\varphi_n)^{\gamma(\delta k+k-1)}|\beta_n|^k|s_n|^k}{n^kX_n^{k-1}} \\
 &=O(1)\sum_{v=1}^mX_v|\Delta\lambda_v| \\
 &=O(1)
 \end{aligned}$$

This completes the proof of the theorem.

6. COROLLARY

This theorem have the following results as corollaries.

Corollary 6.1

If we are taking $\psi = \frac{P_n}{p_n}$ then the infinite series $\sum a_n \lambda_n \beta_n$ is $|\bar{N}, p_n, \delta, \gamma|_k$ -summable $\delta \geq 0, \gamma \geq 1$ and $k \geq 1$.

Corollary 6.2

If we are taking $\delta = 0, \gamma = 1$ then the infinite series $\sum a_n \lambda_n \beta_n$ is $\psi - |\bar{N}, p_n|_k$ -summable, $k \geq 1$.

Corollary 6.3

If we are taking $\delta = 0, \gamma = 1, \psi = \frac{P_n}{p_n}$ then the infinite series $\sum a_n \lambda_n \beta_n$ is $|\bar{N}, p_n|_k$ -summable $k \geq 1$.

Corollary 6.4

If we are taking $\varphi = n$ then the infinite series. $\sum a_n \lambda_n \beta_n$ is $|C, 1, \delta, \gamma|_k$ -summable $\delta \geq 0, \gamma = 1$ and $k \geq 1$.

Corollary 6.5

If we are taking $\varphi = n, \delta = 0, \gamma = 1$ then the infinite series $\sum a_n \lambda_n \beta_n$ is $|C, 1|_k$ -summable, $k \geq 1$.

7. CONCLUSION

The results of this theorem is more general rather than the results of any other previous proved theorem, which will be enrich the literate of summability theory of infinite series.

ACKNOWLEDGEMENTS

I am very thankful to Dr. B.K. Singh (Professor and Head of the Department of Mathematics, IFTM University Moradabad,U.P., India),whose great inspirations lead me to complete this paper.

REFERENCES

- [1] Bor. H; On two summability methods. Math. Proc. Camb. Philos Soc. 97 (1985).
- [2] Bor. H; On local property of $|\bar{N}, p_n, \delta|_k$ -summability of factored Fourier series. J. Math. Anal. Appl. 179 (1993).
- [3] Flett. T.M; On an extension of absolute summability and some theorems of Littlewood and Paley, Proc. London Math. Soc. 7 (1957).
- [4] Hardy, G.H; Divergent Series, Oxford Univ. Press, Oxford (1949).
- [5] Mazhar S.M; On $|C, 1|_k$ summability factors of infinite series. Indian J. Math 14 (1972).
- [6] Seyhan H; The absolute summability methods, Ph.D. Thesis Kayseri (1995).
- [7] Sulaiman W.T; On some absolute summability factors of infinite series. Gen. Math. Notes. Vol.2 (2011).

AUTHOR'S BIOGRAPHY



Mr. Aditya Kumar Raghuvanshi is presently a research scholar in the department of Mathematics, IFTM university Moradabad, U.P., India. He has completed his M.Sc.(maths) and M.A.(Economics) from MJPR University Bareilly,U.P.,India, B.Ed. from CCS Uni. Meerut, U.P., India and he has also completed his M. Phil. (Maths) from The Global Open University Nagaland, India. He has published fifteen Research papers in various International journals. His fields of research are O.R., Summability and Approximation Theory.